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QUESTION 1

Refer to the exhibit. 

A customer is complaining about slow performance for their HPE 3PAR StoreServ system. 

Which CLI command can be used by the storage administrator to display the queue length of a VLUN attached to the
server during the troubleshooting process? 

A. perfvluns 

B. statvirtvolmapping 

C. show mappingsvirtvol 

D. srstatvlun 

Correct Answer: D 

Reference: https://support.hpe.com/hpsc/doc/public/display?docId=c04204279 (689) 

 

QUESTION 2

The customer has purchased an HPE StoreOnce VSA and their backup software is HPE Data Protector. 

What considerations should be taken for support of Data Protector and Catalyst stores? 

A. Catalyst only supports Data Protector 64 bit Media Agent. 

B. StoreOnce Catalyst only supports Data Protector 6.x and above. 

C. Only Data Protector Cell Manager supports writing to the Catalyst store. 

D. The Data Protector 64 bit Media Agent supports only VTL and NAS on the StoreOnce. 

Correct Answer: C 

 

QUESTION 3

You are installing an additional HPE 3PAR StoreServ SFF disk enclosure in an HPE 3PAR 8200 StoreServ array. The
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newly-installed enclosure appears as cage1. You are able to verify from the 3PAR CLI that both cage0 and cage1
appear. However, you notice an error in the system health: 

Click on the controller enclosure port you would look at to start troubleshooting this issue. 

Hot Area: 

Correct Answer: 

Reference: https://support.hpe.com/hpsc/doc/public/display?docId=c04830947 

 

QUESTION 4

Refer to the exhibit. 
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A storage integrator is creating a virtual volume on an HPE 3PAR StoreServ storage system and plans to create clones
of the volume in the future. 

Which additional steps will be required for this? (Choose two.) 

A. Check Edit additional settings. 

B. Configure a new Virtual Domain. 

C. Check Enable clones. 

D. Check Advanced options. 

E. Configure Copy CPG. 

Correct Answer: DE 

 

QUESTION 5

A storage integrator is planning an HPE MSA Storage installation. 

What needs to be taken into consideration when implementing a SAS connected model? 

A. SAS expander or a SAS switch is supported only with non-redundant paths. 

B. SAS expander or a SAS switch is required if eight or more servers are connected. 

C. Up to four servers with redundant paths can be connected. 
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D. Up to four servers with non-redundant paths can be connected. 

Correct Answer: C 

Reference: https://support.hpe.com/hpsc/doc/public/display?docId=emr_na-
a00028199en_usanddocLocale=en_US#N10010 
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